Office of the State Comptroller

PAYROLL BULLETIN

Subject Bulletin No.

P-893

Changes in New York State and

City of Yonkers Withholding Taxes Date

March 11, 1996

New York State and City of Yonkers withholding taxes will change effective in
Administration checks dated April 3, 1996 and Institution checks dated April 11, 1996.

The deduction allowance table, and the tax charts for Single and Married taxpayers, for both
New York State and City of Yonkers Residents have been changed. -

The withholding rate for supplemental wages paid to inactive employees has been reduced for
New York State to 7.5% and for City of Yonkers Residents to 1.125%.

A copy of the pages from the revised Tax Booklet (WT-100) will be sent with the copy of this
Bulletin which accompanies the Payrol! Register.

Questions concerning this Bulletin should be directed to the Deduction Section at
(518) 473-1989.

To obtain a complete copy of WT-100 from the Department of Taxation and Finance call
1-800-462-8100.




New York State

Special Table for Deduction and Exemption Allowances

T T2

Applicabie to Method I, Exact Calculation Method
for New York State; see pages T-13 and T-14

Applicable to Doiiar to Dollar Withholding Tables
for New York State; see pages T-15 and T-16

Using the tables below, compute the total deduction and exemption allowance to subtract from wages.

Table A
Combined Deduction and Exemption Allowance (full year)

Using Payroll Type, Marital Status, and the Number of Exemptions, focate the combined deduction and exemption aliowance
amount in the chart below and subtract that amount from wages, before using the exact calculation method {or doliar to
dollar withholding tables) to determine the amount to be withheld.

(Use Tables B and C below if more than 10 exemptions are claimed.)

Number of Exempticns
Payroll Marital _

Type Status 0 T . 2 3 4 5 & 7 8 9 10
Daily or Single $24.25: $28.10| $31.95! $35.80 $35.65] 343.50: 3$47.35 $682.75
Miscefaneous ([Married | 26.15| 30.00] 33.85/ L3770 41,65 [TUa8 4011 14625 0 0. :;&:,?4. ‘5
Weekly Single 121.15] 140,40} 159.65| 178.90] 198.15] 217.40| 238.85 . . 31365

- Married | 130.75 | 150.00[-169.25| 188501720775 | 227,005 246725 7 265,50 | ¥E28475 =302 00 | ZE 32545
Biweekly Single 242.30 1 280.801 319.30¢ . . . 473.30 550,30, 588.80] 627.30
[Waried | 261.50|300.00| 338,50 377 00 41550 | 45400 |=5/402,60 |5 531,00 £ 569 50 [FU 08 OO TEEAERO)
Semimonthly Single 262501 304,156] 345.80| 38745 42810 470.75! 51240 55405 g5. . 679.00
“Wiaied | 283135 :325.001 '366.65 | 408/30 440,05 | 40160 | 83905 S TA 00T TS TS BE STeE20 12 reuTs |
Monthly Singie 525.00| 608.30| 691.60| 774.90| 858.20{ 941.50| 1,024.80| 1,108.10] 1,191.40 1,274.70| 1,358.00
Marmied *|. 566,70 650.00| ‘733.30] 816760 860:00 | 083720 /7 086750 14580 | 12331014 3H6A0] 0870,
Annual Single 6,300] 7,300 10,3000 11,300 12,300] 13,300, 14,3007 ~ 15,300 16,300
| Marmied™.| 76,800 -7.800[788 001:10,800 | 1:80017-12,800, "4 3800 | A 4800 | SH5,800 8387800
Table B Table C Table D
Deduction Allowance Exemption Aliowance Adjustment for Difference Between Federal*
A and New York Exemption Allowances
Use payroll period and marital Based on a full year
status of employee to find the exemption of $1,000. For employers who elect to use the federal exemption amounts*
deduction aliowance, Then ' ' in computing wages after exemptions, the foliowing adjustments
see Table C. Multiply the number of correctforthe difference between the federal exemption of -
-1 exempfions claimed by the $2,550" and the New York State exemption of $1,000 according
Payroli Marital Deduction| | applicable amount from the to the particular payroll period.
Period Status Amount| | table below and add the ’ .
Daily or Single $24.25 | result to the deduction To cormect for the lower New York State exernption aliowances:
Miscelian, Maried 26.15]  amount from Table B. Multiply the amount below for one exemption by the number
Weekfy Single 121.15 of exemnptions claimed. Add the product to the federally
Married 130.75 computed wages after exemptions.
Biweekly Single 242 30| i Payroll Value of one Adjustment for each
Married 261.50| | Period exemption Payroll Period federal exemption
Semi- Single 262.50| | Daily/miscalianeous $3.85| | Daiiy/miscellaneous $6.00
monthly Married 283.35| | Weekly 18.25] | Waekly 29.80
Monthiy Single 525.00} | Biweekly 38.50] | Biweekly 58.65
Married 866.70: | Semimonthly 41.85! | Semimonthly 64,60
Annual Single 6,300 | Monthly 83.30 | Monthly 129.20
Married 6,800 | Annual 1,000.00 | -| Quarterly 387.50
Semiannual 775.00
Annual 1,550.00

* The adjustments in Table D are based an the 1996 federal exemption amount of $2,550. The fedaral exemption amount may be adjusted for
infiation as prescribed by the Iniemal Revenue Code. For an annual payroll period, the adjustment for sach federal exemption should be
changed by subtracting $1,000 from the current federal exemption amount, Other payroll periods should be recalculated accordingly.



Method Il Exact Calculation Method New York State Singie T-13
Table Il - A  Weekly Payroll Table i -D  Monthly Payroll
if the amount of net : If the amount of net
wages (after subtracling wages (after subtracting
deductions and : Add the result deducions and Add the result
exemptions) is: Subtract Muliolythe  toColumn 5 exemplions) is: Subtract Multiply the to Column 5
| : : Column 3 resutt by amount L . Column 3 result by amount.
AL But less| amount from Column 4 Withhold the i AL But less amaount from Column 4 Withhold the
n | Least - than| netwages amount resutting sum. | n {Least than net wages amount resuliing sum.
e | Column 1 Column 2 - Column 3 Colurnn 4 e Column1  Column2 Column 3 Column 4 ma 5
2 106 - 154 . 108 0.050 2 458 .
RHACSIM TSI T2 0T 154 500,060 3 :
4 212 1,731 0.070 4
TSI 19282, (17310075 5 0
8 1,823 0.080 | 8 8,333 .08
T BB T T 2,885 7 0.075 71 12,5000 2,500 5 O0TE N AR R 002
Table ll-B Biweekly Payroll Tableli-E Daily Payroli
. § I the amount of net T | fthe amount of net
wages {after subfracting wagas {after sublracling T
deductions and Add the resuft deductions and : Add the result
exemptions) is: Subiract Muftiply the  to Column 5 " | exemptions) is: Subfract Multiply the io Column 5
L Column 3 result by amount L Column 3 result by amount
P JA amount from Column 4 Withhald the i Butiess! amountfrom Column 4 Withhold the
n | Least et wages armount resulfing sum. n fhani  netwages amouni - restilting sum.
e | Column 1 Column 3 Column 4 Column 5 e Column2l  Column3
iRty 30 T 000D T (BE
2 “212 7 0.050 B.48 g
N 308700807 U327 | 3t
4 | 423 0.070 20.18 4
RER TN 3462770075 T 23288) (5!
| 3,846  0.080 26173 s
RS TN AP 8,768 U 00780 0 415,58 7
( _ Table Il - C  Semimonthly Payroll Annual Tax Rate Schedule
! f he amount of net ' : If annual wages (after
wages (after subtracting subtracting deductions Subtract
-7 deductions and Add the resulf and exempflions) are: Column 3 Add the result to
exempiions) is: Subfract Muliiply the 1o Column § - amountfrom Multiplythe  Columin 5 amount
L ‘ Column 3 restit by amount. L texable porion -~ resultby The resulting sum
i AL Butless! amount from Column 4 Withhold the i |At Butless |  of annualized Column 4 is the annualized
n | Least than| netwages amount resulting sum. n | Least fhan pay amount fax.
e | Column i Colums 2| Column 3 Column 4 Column 5 e { Colurnn 1 Column 2 Column 3 Golumn §
228  0.050 947 - | 2 500°
CUUA33 TTT060T T T 1438 310°758,000°
458  0.070 + 21.88 417 31000
3,750 0075 - - 2522¢ 5 1+780,000
4,167 4,167  0.080 283.54 6| 100,000
AT B, 2800 46,2600 0078 " 450.21 7 | 77450,00075 0T
Steps for computing the amount of tax to be withheld: Examptle 1: Waekly payroll, $400 gross wages, single, 3 exemptions claimed

Step 1 If the number of exemptions ciaimed is ten or fewer, look up the
{otal exemption and deduction amourit in Table A on page T-12,
according to the payroli period and marital status claimed. (If there
are more than 10 exemptions, multiply the number by the

exemption amount in Table C on

page T-12 and add it {o the

deduction amount from Table 8.) Subtract the total exemption
and deduction amount from the wages to get net wages.

For weekly payrof periods, if the amount of net wages is $600
or less, you may use the simpiified Dollar o Dofiar Withhoiding
Tabie beginning on page T-15 o find the amount to withhold. .,

Ctherwise, continue with Step 2.
Locate the table on this page
Find the fine on which the net wages fall between the amounts in

Step2

Columns 1 and 2.
Step 3

L
Stepb

for the appropriate p.ayroll period.

Following across on the line you found in Step 2, subtract the
amount in Column 3 from the nef wages. _
Foliowing across on the same line, muttiply the result from Step 3
by the amount in Column 4.

Following across on the same fine, add the result from Step 4 to

the amount in Column 5. The resulting sum is the amount to
withhold from wages.

1.
2.

[

Amount from Tabie A on page T-12 is $178.80 for single, weekly payroll,

3 exemptions. $400 wages - $178.90 = $221.10 net wages.

Use Table li - A above for single, weekly payroll. Look up $221.10 and

use line 4 on which $221.10 is greater than Column 1 (§212) but less
than Column 2 ($1,731).

. $221.10 - $212 {from Column 3, line 4) = $8.10.
. $8.10 x .070 {from Column 4, line 4) = $0.64.
. $0.64 + 510.10'(from Column &, line 4) = $10.74. Withhold this amount.

Example 2: .

Sernimonthly payroll, $5,000 gross wages, single, 1 exemption

1. Amount from Table A on page T-12 is $304.15 for single, semimonthly
payroll, 1 exemption. $5,000 wages - $304.15 = $4,605.85 net wages,

2.

4 4 ]

Use Table Il - C above for single, semimonthly payroll. Look up $4,695.85

and use line 6 on which $4,685.85 is greater than Column 1 (84,167) but
less than Column 2 ($6,250),

amount.

. $4,6085.85 - $4,167 (from Column 3, line 6) = $528.85.
. $528.85 x .0B0 (from Column 4, line 6) = $42.31.
. $42.31 + $283.54 (from Column 5, line 6) = $325.85. Withhold this



T-14 . New York State Married Method i} Exact Caiculation Methad

Tabie i -A Weekly Payroll

Tableli-D Mbnthiy Payroll

if the amount of net It the amount of net

wages (after subtracting wages (after subtracting

deductions and Add the result deductions and Add the resulf

exemptions) is; Subtract Multisiy the o Column 5 exemptions) is: Subtract Multiply the {0 Column §

Column 3 result by amount. Column 3 fesult by amount.

I 1A Butless| amount from Column 4 Withhold the Af Burt fess amount from Columnn 4 Withhold the
n | Least than! netwages amount resuting surn. Least than net wages amaunt resulting sum,
e Cotumn 1 Golumn 4 Column 5

Calumn 2

Coiumn 1 {olumn 2 Column 3 Column 4 Column 5

0040 %
£.050
L0080 T
0.070

; ?ﬁﬁs@’m%s
G 0 0 .

~Noo e als 5 -

'"'20 075;“?5@5“% 421

1-B Biweekly Payroil

Table Il -E Daily Payroli

N ooso""‘ N
QTS T TTATAA S

if the amount of net it the armount of net
wages (after subtracting . ] ‘1 wages {after subtracfing
deductions and : Add the resut deductions and . Add the resuf
exemplions} is: Subtract Multiply the o Column § exemptions} is: Subtract Multiply the {0 Column 5
i - Column 3 result by amount. L Column 3 resuft by amount.
i A Butless| amount from Column 4 Withhoid the PiA Butless| amount from Column 4 Withhoid the
n | Least than| netwages amount resulting sum. n | lLeast than!  netwages amaumt resulting sum,
e | Column { Column 2 Cciumn 4 Column 5 e | Column 1 Column 2 Column 3 Column 4 Cnluma 5
I R PO e 2 2 | T TR U i 0 e 825 23S0 20080 o n TR
2 . : 308 2 21 0.050
4
.Y
6

I B Table H-C Semlmonthiy Payroll

Annual Tax Rate Schedule

if the amount of net if annual wages (after
wages (after subtracting ' sublracting deductions Subtract
deductions and Add the resul and exemptions) are: Column 3 ' Add the result to
exemptions) is: Sublract Mulipythe o Column 5 : amount from Muliiplythe  Column 5 amount.
L. S Column 3 result by amount. L taxable portion result by The resulting sum
| | At Butless! amount from Column 4 Withhold the i Butless | of annualized Coiumn 4 is the annualized
n | Least ‘ fhani netwages amount resuffing sum. n fhan pay amount fax,
@ Cotumn 1 Column 2 Coiumn 4 e Coiumn 2 Column 3 Column 4
: 2
4 4.
isty 5
6
T

Steps for compuﬁng the amount of tax to be withheld

Step 1 ffthe nurnber of exemptions claimed is !en or fewer, iook upihe
todal exernption and deduction amount in Table A on page T-12,
according to the payroil period and marital status claimed. (If there
are more than 10 exemptions, multiply the number by the .
exemption amount in Table C on page T-12 and add it to the
deduction amount from Table B.) Subiract the tofal exemplion
and deduction amount from the wages toget netwages. -
For weakly payroll periods, if the amount of net wages is $600
or fess, you may use the simpiified Dollar to Dollar Withholding
Table beginning on page T-15 to find the amount to wﬁhhold

" Otherwise, continue with Step 2. ' :
Step 2 Locate the table on this page for the a fpmpnate payrolf petiod.
Find the line on which the net wages fall between the amounts in
- Columns{and 2
2p 3 Following across on the fine you found i Step 2, subtract the
L amount in Column 3 from the net wages.
otep 4 Following across on the same fine, multiply the result from Step 3
by the amount in Column 4,

Step 5 Following across on the same lne, add the result from Step 4 o
the amount in Column 5, The resulting sum is the amount to
withhold from wages.

Example 1: Wieakiy payro¥, $400 gross wages, maried, 4 exemptions claimed

1. Amount from Table A on page T-12 Is $207.75 for married, weeldy payroll,
4 exemptions, $400 wages - $207.75 = $192.25 net wages.

2. Use Table i} - A above for married, weekly payroll. Look up $182.25 and
use line 3 on which $192.25 is greater than Coiumn 1 ($154) but less

than Column 2 ($212), . - .

. $182.25 - $154 (from Column 3, fine 3) = $38.25. '

. $38.25 x .080 {from Column 4, line 3) = $2.30,

. $2.30 + $6.63 (from Column 5, line 3) = $8.83, Withhold this amount.

[4 0 ]

Example 2: Semimonthly payroll, $5,000 gross wages, married, 3 exemptions
- Amount from Tabla A on page T-12 is $408.30 for married, semimonthiy

payroll, 3 exemptions, $5,000 wages - $408.30 = $4,551.70 net wages.

2. Use Tabie il - C gbove for maried, sem:monthty payroll. Leok up $4,591.70
and use line § on which $4,581.70 is greater than Column 1 ($4 167) but
less than Column 2 ($6,250).

. $4,581.70 - $4,167 (from Column 3, line 8) = $424.70.

. $424.70 x .080 (from Column 4, line 8) = $33.98.

. $33.98 + $283.54 (from Cotumn §, line 6) = $317.52. thhhold this
amount,

oy s 12




100 City of Yonkers

Special Table for Deduction and Exemption Allowances

Applicable to Method Il, Exact Calcutation Method Applicable to Dollar to Doilar Withholding Tables
- for the city of Yonkers; see pages T-61 and T-82 for the city of Yonkers; see pages T-83 and T-64

Using the tables below, compute the total deduction and exemption allowance to subtract from wages.

Table A

Combined Deduction and Exemption Aliowance (full year)

Using Payroll Type, Marital Status, and the Number of Exemptions, locate the combined deduction and exemption
allowance amount in the chart below and subtract that amount from wages, before using exact calculation method (or
dollar to doitar withhoiding tables) to determine the ameunt to be withheid.

(Use Tables B and C if more than 10 exemptions are claimed.)

Number of Exemptions

Payroll Marital

Type Status 6 1 2 3 4 5 6 | 7 8§ 9 10 -
Daily or Single | $24.25| $28.10| $31.95| $35.80) $39.65) $43.50) $47.35) $51:20) $55.05 : $62.75
Miscellaneous [Marded =] 6:15| 7 30.001 " 35.85| 7371707 4155|4640 | " /4825 | " "83740 FIEREE 0,80 |5 564651
Weekly Single | 121.15| 140.40] 159.65] 178.90| 198.15| 217.40) 23665  255.90 275.15 : 313.65
Fiiarmed | 130.75].:450.00 1/169.25 | '18850/.207.75} 227,00 | : - 246.25 065,50 1...284:75 - 304:00 | 732325

Biweekly Single 242.30 | 280.80 | 316.50| 357.80 396.30| 434.80| 47330 511.80; 550.30  588.80

627.30

I"Riarm=d | "261.50 |"300.001"338.50 | '377.00|°415.50 454700 | 49250 T B3T00 - 6681501 708100 /2, 646,50

T

Serimonthiy| Single | 262.50| 304.15| 345.80| 367,45 426,10/ 470.75| 51240) 65405 59570] 637.35
- ‘Waried:'| 283.35| 32500 |-386,65| 408.30 | 449.95 491160

5330817 574.60 | " 616 55| 218682017 688.:85"

679.00

Monthiy Single | 525.00( 608.30 | 691.60| 774.80 | 858.20| 841.50 'ff_.wqgfz_._so 1,108.10 1,191.40] 1,274.70 | 1,
Wismed | 566.70| 650.00| 733.30| 816.60|.890.90| 983.207 1,066.50 | 1,149.80 1,238 {0 1:316:40 1,

§58.0Q
SB8:70:

Annual Single 6,300| 7,300 8,300 19,300 10,3001 11,300 12,300} 13,300 14,300 15,300 16,300
Named 7| 6.80017 7,800 | - 8,800] '0,800| 710,800 | 11,800 2 12,800;0.013,800 | £'14,800 15,800 127 15,600]
Table B Table C - || Table D
Deduction Allowance Exemption Allowance Adjustment for Difference Between Federal®
and New York Exemption Aliowances . .
Use payroll period and marital Based on a full year .
status of employee to find the exemption of $1,000. For empioyers who elect to use the federal exemption amounts”
deduction allowance. Then in computing wages after exemnptions, the following adjustments
see Table C. Multiply the number of correct for the difference between the federal exemption of
' exemptions claimed by the $2,550" and the New York State exemption of $1,000 according
Payroli #arital Deduction| | applicable amount from the to the particular payroll period.
Period Status Amount| | table below and add the : '
Dally or Single $24.55 | result to the deduction To correct for the lower New York State exemption aliowances:
Miscelian. Married 26.151 | amount from Table B. . Multiply the amount below for one exemption by the number
Weekly Single 121.15 ' . of exemptions ciaimed, Add the product to the federally
Married 130.75 computed wages after exemptions.
Biweekly Single 242.30| | Payroll Vaiue of one Adjustment for each
Married 261.50; | Period exemption Payroll Period - federal exemption
Semi- Single 262.501 | Dailyfmiscallaneous €3.85! | Daily/miscellaneous $6.00
monthly Married 283,35 | Weekly 19,25 | Weekly 29.80
mMonthly Singie 525.00 | Biweekly 38.50 | | Biweekly : 58.65
Married 868.70| | Semimonthly 41.65] | Semimonthly . 64,60
Annual Single . 6,300 1 Monthty 83.30! | Monthiy : 126.20
Married 6,800 | Annual 1,000.00¢ | Quanery 387.50
Semiannuzl 775.00
Annual 1,580.00

* The adjustments in Table D are based on the 1996 federal exemption amount bf $2,550. The federal exemption amount may be adjusted for

infiation as presctibed by the Internal Revenue Code. For an annual payroll period, the adjustment for each federal exemption should be
changed by subtracting $1,000 from the current tederal exemption amaunt. Other payrolt pericds should be recalculated accordingly.




Stept i the number of exemptions claimed is ten or fewer, look up the
total exemption and deduction amourt in Table A on page T-12,
according o the payroll period and marital status claimed. (H there
are more than 10 exemptions, mulfiply the number by the

—Step

exemption amount in Table C on page T-12 and add it fo the
deduction amount from Table B.) Subiract the tola! exemption
and deduction amount from the wages to get net wages. :
For weekly payroll periods, if the amount of net wages is $600
or {ess, you may use the simplified Dollar to Doflar Withholding

" Tabie begirning on page T-15 to find the amount to withheld, ~~
{therwise, continue with Step 2.

Step 2

Locats the table on this page for the appropriate payrolt period.

Find the line on which the net wages fall between the amounts in
Cotumns 1 and 2.

Step 3

Following across on the line you found in Step 2, sublract the
- amount in Column 3 from the net wages.
Following across on the same line, _rm_x!ﬁpiy the result from Step 3

by the amount In Column 4,

Step 5

Foliowing across on the same line, add the result from Step4to *

the amount in Cotumn 5. Multiply the result by 15% (.15). The

product is the amourit to withhald from wages.

y

Method Il Exact Calculation Method City of Yonkers Single , T61
Table ll - A Weekly Payroli Table H-D HMonthly Payroli
If the amount of net Add the result If the arnount of net Add the result
wages (after sublracting to Column 5 wages (affer subtracting to Column 5
deductions and : amounf. deductions and ' amount.
exemptions) fs: Subtract  Multiply the  Multiply by exemptions) is: Subtract Multiplythe -~ Multiply by
- Columan 3 result by 15% (.15, L- Column 3 result by 15% (.15).
PAL Butiess| amountfrom  Columnd  Withhold the i|At Butless | amountfrom  Columné Withhold the
n ¢ Least than{ netwages amount product. n | Least than | . netwages amount oroduct,
e | Column i Column 2] Column 3 Column 4 Column 5 e | Column1 Column2 Column3  Lolumnéd Coluzn &
Fol e 80 - - §108) o %0 . 0040 - - 80 Tian B0 T $45E| $¢ 0040, - -l - 80
2 [ ' 108 0.050 4.23 2 458 867 458  0.050 - " "18.33
B K o 184 DR+ 12 1<t B 6.6_3' 3 [ eeT 817| - 867 0.060 - T2 T8
212 £.070 10,10 4 17 7.500 817  0.070 . 4375
731 0075 - 11644 |6 - 7,500 8333 7.500  0.075 - .. 50458
i 1,823 0.080 130.87 6 B,333 12,500 8,333 . 0.080 _ 567.08
2.885 0075 207.79 T 12,500 ... 12.500 0.075 T 80042
Table Il -B Biweekly Payroll Tabie i -E Daily Payroll
ff the amount of net Add the resui If the amount of net Add the result
wages (after subtracting o Column & wages (after subtracting L 1o Column 5
deductions and ) amount. deductions and amount.
exemptions) is: Subtract  Mulliply the  Maltiply by exemptions) is: Sublract Muitiply the Multiply by -
L Colemn 3 resutby  15% (15 L Column 3 resuft by 15% (.15).
i A ‘Butiess| amountfrom  Coiumn4  Withhod the PiA Butless; amount from Column 4 Withhoid the
n | Least than| netwages amount product. n | Least than|  netwages amount product.
g | Column 1 Column 2] Column 3 Columnd - Column5 e | Column 1 Column 21 Column 3 Column 4 Column &
AT 80, . $212f 5-:. S0 0.040 <. 80 1 $0 $21 50 0.040 Lo 80
2 ’ 212 0.050 8.46 2 21 31 21 . 0.050 0.85
LT 308770080 U o827 (3| .03 42 31 . 0.060° o133
" 423 0.070 20.59 4 42 246 42 0.070 202
ST 3,462 0075 23288 |5 346 - 385 346 0075 12320
' 3,848 0.080 281.73 6 385 577 385 0.080 ' 26.17
L 5769  0.075 415.58 7 BT e, 577 0.075 84,68
- { . Tabie li -C Semimonthly Payroli o Annual Tax Rate Schedule
' if the amount of nat Add the result If annual wages (after Add the result to
wages {after subtracting . to Column & subtracting deductions Subtract Cotumn 5 amount,
deductions and - S amount.- and exemptions) are; Column3 - Muttiply by
exemplions) is: Subtract Mulliply the  Multiply by : amountfrom  Multiply the 15% (.15
L Column 3 result by 15% (.15). L taxabie portion  result by The product is
4 TAL Butless| amounifrom  Column4  Withhold the i (At Butless | of annualized  Column 4 the annualized
n | Least than| netwages amount product. n | Least than pay amount fax.
€ Column 2! Column 3 Column 4 - Column5 ! -1 e [Columni1- Column2 Column 3 Column 4 Column 5
1T T §2291 - $0...0040 80| [T] 7 %0  $5500 T80 0.040 - §0
12 333 228 0.050 9.17 2 5,500 8,000 5,500 0.050 220.00
37 o asgliio 43330 0 0.080. © 1438 318000 @ 11,000 8,000 . 0.080 - 1345.00
4 3,750 458 0070 21.88 4 11,000 90,000 11,000 0.070 _ "B25.00
5 4,167 3,750  0.075 25228 |5/ 90,000 100,000 80,000 . 0.075 oo 6,055.00
[ 6,250 4,467  0.08D 283.54 6| 100,000 150,000 100,000 0.080 " 6,805.00
TETITe280N 6,250 . 0.075 450.21 71 1580000 ... ..... 150,000 0,075 - 220,805.00
Steps for computing the amount of tax to be withheld: Example 1: ‘Weekly payroll, $400 gross wages, single, 3 exemptions claimed
1. Amount from Tabie A on page T-12 is $178.90 for single, weekly payroll,

3 exemptions. $400 wages - $178.80 = $221.10 net wages.

. Use Table !l - A above for single, weekly payroll. Look up $221.10 and

use line 4 on which $221.10 is greater than Column 1 {$212) but less

* than Column 2 {$1,731).

. $221.10 - $212 (from Columnn 3, line 4) = $9.10.
. $8.10 x .070 (from Column 4, line 4) = $0.64,
. $0.64 + $10.10 (from Column 5, line 4) = §10.74.

$10.74 X .15 = §1.61. Withhold this amount.

Example 2:
1.

2.

in bW

Semimonthly payroli, $5,000 gross wages, single, 1 exemption
Amount from Table A on page T-12 is $304.15 for single, semimonthly
payroll, 1 exemption. $5,000 wages - $304.15 = $4,695.85 net wages.
Use Table II - C above for single, semimonthly payroll. Look up $4,695.85
and use line 6 on which $4,695.85 is greater than Column 1 {$4,167) but
less than Column 2 ($6,250). '

. $4,6095.85 - $4,167 (from Column 3, line €) = $528.85,
. $528.85 x .080 {from Coiumn 4, line 6) = $42.31.
., $42.31 + $283.54 {from Column 5, line 6) = $325.85.

$325.85 X .15 = §48.88. Withhoid this amount.



1.62 : City of Yonkers Married Method || Exact Calcutation Method

Table il - A Weekly Payroll Table1-D Monthly Payroll
if the amount of net ' Add the result if the amount of net Add the result
wages (after sublracting to Column 5 wages (after subtracting ta Column 5
deductions and amount, deductions and . amount.
exemptions) is: Subtract  Multipiythe  Multiply by exemptions} is: Subtract Multiply the Multiply by
L Column 3 result by 15% (.15). L Column 3 resulf by 15% (.15,
i 1At But less| amountfrom  Columnd  Withhold the i At Butless | amountfrom  Column4 Withhotd the
n i Least than! netwages amouni product, n | Least than net wages amount product.
e iColumni  Goumn2. Coumnd  Columné Column & e | Column 1 Column 2 Column 3 Column 4
T e 80 . 0 0.040 T B0 1] . i..S0. . »458|0 TT§6,0:040 . -
2 0.050 423 2 488 0.050
4 0.070 1010} | 4 i oeere . 4315
577 0078 0118440 IS¢ [T ERNEIS i L
6 0.080 130.87 5 o8
i “p.075 - 20779 T o7s
Table It - 8 Biweekly Payrol Table I -E Daily Payroll
If the amount of net Add the result - | if the amount of net Add the result
es (after subtracting fo Column 5 wages {after subiracting to Column 5
deductions and amount. deductions and . amount.
exemptions) is: Subfract  Multiplythe  Mutiply by exemptions) is: Subtract Multiply the Muttiply by
Column 3 resylt by 15% (.15). L : Column 3 result by 15% (.15).
Butless! amounifrom  Column4  Withhold the i |At Butiess| amountfrom  Column4 Withhold the
than| nafwages amoun} product. n i Least than! netwages - amount product.
Column 2] _Column3 _ Column4 Colurmn 5 e Coumnt _ Column 2 Column 4 Column 8
0.050 2 1 0.85
8 770080 BRE gl i
0.070 4 i
10075 5 | 75 Y
0.080 6 0.080
0,075 7 e e Ty PR s 1Y £ il
Tableli -C Semimonthly Payroll Annual Tax Rate Schedule
if the amount of net i . Add the result if annual wages (after ) ‘ + Add the result to
wages {after subtracting to Column § subtracting deductions Subtract " Column b amount.
deductions and : : amount. and exemptions} are: Column 3 Muitiply b
exemptions} is: .| Subtract  Mutiplythe  Multiply by amount from  Multiply the 15% {.15{.
L Columnd-  resultby 5% (.15). L taxabie portion  result by The product is
i | At Butless| amountfrom  Column4  Withhold the A Butless | of annualized  Columnd  the annualized
n ; Least __than| netwages amount product, n | Least than pay amount tax.
e | Column 1 Column 2] Column 3 Columr: 4 Column B g [Columni _ Column2! Column3 Column 4 ~ Column B |
e ST S s W0 0040 8 e SO S B0 L B TR
2" 2
3 3y
¥4 .
o 5 90,0007 F 0TS
6 6 0.080
e 260 T T 7] %
Steps for computing the amount of tax to be withheld: Example 1: Weekly payrot, $400 gross wages, married, 4 exemptions claimed
- . . . 1. Armount from Table A on page T-12 is $207.75 for marmied, weekiy payroll,
Step1 i the number of exemptions ciaimed is ten or fewer, look up the 4 exemptions. $400 wages - $207.75 = §182.25 net wages.
. fotal exemption and deduction amount in Table A on page 7-12, 2. Use Table ii - A above for suygle, weekly payroll. Look up $182.25 and
according to the payroli period and marital status claimed. {if there use line 3 on which $192.25 is greater than Column 1 (§154) but less
are more than 10 exemptions, multiply the number by the , than Colurnn 2 (§212). o T 7
exemption amount in Table C on page T-42 and add it to the 3, $152.25 - $154 (from Column 3, line 3) = $38.25.
deduction amount from Table B.) Subtract the tofal exemption 4. $38,25 x .080 (from Column 4, fine 3) = $2.30.
- and deduction amount from the wages to get net wages. 5. $2.30 + $6.63 (from Column 5, line 3) = $8.93.
For weekly payroll periods, if the amount of net wages is $600 " $8.93 X .15 = $1.34. Withhold this amount.
or less, you may use the %lrr;%lsﬁeg ﬁaﬁo Ddl?rmmg%ng . .
inni -15 to find the amoun i . ‘ A
g%?;&g@ég%:é‘:ﬁ Step 2. - Example 2: Samimonthly payroll, $5,000 gross wages, married, 3 exemptions
Step2 Locate the 1able on this page for the appropiiate payroll period. 1. Amount from Tab]e A on page T-12 is $408.30 for married, semimonthty
: Find the line on which the net wages fall between the amounts in payroll, 3 exemptions. $5,000 wages - $408.30 = $4,591.70 net wages.
Colurnns 1 and 2. 2. Use Tabie It - G above for married, semimonthiy payroll. Look up $4,591 70
Step3 Following across on the line you found in Step 2, subtract the and use line 6 on which $4,591.70 is greater than Column 1 ($4,187) but
amount in Column 3 from the net wages. less than Column 2 ($6,250). '
_Step4 Following across on the same line, multiply the result from Step 3 3. $4.501.70 - $4,167 (from Column 3, fine 6) = $424.70. - ~ - =
- by the amount in Colurn 4. 4. -$424.70 x .080 (from Column 4, line 6) = $33.98.
Step5 Foliowing across on the same line, add the result from Siep 4 {0 5. $33.98 + $283.54 (from Column §, line 6) = $317.52.
the amount in Column 5. Multiply the result by 15% (.15). The $317.52 X .15 = $47.63. Withhold this amount.
product is the amount to withhold from wagss.



